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10.

PART A'— (10 x 2 = 20 marks)
Answer any TEN questions each iri 30 words.

What is capital asset?
epager Qsisg) eraniig) wng)?
Define the term Dividend.
URBISTSTLILD eTe USSEMS eUaHTWI).
What is. Acas'ual income?
SHQEWE eu(pLDTED eTaTLg! Wng)?
What is meant by clubbing of income?
‘umLOTaTSmS ey CFTssa eramLige Qurr@m wmg)?
State the meaning of set-off of losses.
BLLhisamar #Mls (S eremmired ereme.
List out any two with limit donation U/S 80G.

80Guer ‘Liig eumuusmg)a;@Lul_L_ Em@a;rrml_a;m q@g@m) @Umrtq_mm
UI_Lq.UJGIS]@&; ' : , A

Write a short notes on ‘minor’s income.
Berauit aumLomemd uH GOl euanys.
Define the term ‘Gross Tdtal Income’.

‘Quomgs auLomed’ — euanyg.

Calculate gross 1nterest if T 2, 00 000 is invested: in 9% tax free

securities.

¥ 2,00,000, 9% aufiuideom 9eneamruinisefed wpgeSEH Q&ng,rra) HLs@o
Qrgs eul’ g eTeeuaTe eTarm Hamméd (5.

Compute Gross Total Income :

4
Income from hduse property (Letout) 30,000

Loss from self occupied property 16,000

Maximum : 75 marks
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11.

12.

13.

14.

15.

16.

Quwrss a.r@mrr@ﬁb FEE D -
. ) , ‘ oz
afl_ (& Aenggl eumonend (eur_amsse ol L Lg) 30,000
& Gy Qengdelmhbe opulL pUL b 16,000
Sekar pﬁrchased a motor cycle for his personal use on 1.1.1984

for ¥ 15,000. He sold: the same for % 18,000 on 31.3.2017. What
amou‘rft of capital gains is to be included in total income?

G&a;rr Grarrua.lrr 1.1.1984é 80 (Su)rn_l_rrrr maa;eﬂmcrr 15 OOO&;@
U G 3132017 e sigear 18,0004 aﬁlgpgpmr Qurgg -
uLTaEE Gaiss Goauaimg Ll APOSET BLSTLID TeUeIETa|?

The following gifts were recelved by Mr X durlng the prev10us
year 2016-17. ’ ‘ A

(@) Gift received from father T 1 00,000 . o

(;b)i Gift received from’ a friend % 50,000.

Comf)ute ihcbﬁie from other sources.

2016-171b @ S X eranueuir Gemeu(pid g,;_r;mg,uﬁll_@@pg
Qupp uRseser T1; 00,000 Bamuefl8Ghs Qubp ufsser 50, 000 '

Qs @wma;aﬂ.eﬁl@‘r_r,g Qupp aumraTRIEmaT STES [HS.

N

PART B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

1

State the procedure for computation 6f short term capital gains.
GUEL ST APOFET YFTULD SaETES B HLAPPD@W Sams.
Write a note on deductions from income from other sources.

Qa1 Qen aiporamsd@Es CalwiuEb sflaser uphl GHoy
UMS.

What is agricultural income? Give examples.

CouaTTaiT eu(BLOTENLE ETeDTE) GTaHTen? TRSSISST( BHS.

From the following compute income from other sources:

_ T 3
Dividends from ABC Ltd : 26,000
Dividends from PQR Ltd’ 14,000

Collection charges for the above items @ 1%
Rent from let out building along with
plant and machinery » 30,000
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Mr. X born on 5.1.1985 has the following information:

. T
Salary income 1,00,000
Rent from house p.a. 58,000
Municipal taxes paid . 6,000
Winning from Lotteries (Gross) 50,000
Interest on Bank deposits 6,000
Interest on Govt. Securities 2,000
Interest on debentures ; 14,000
Deposit in PPF account - 80,000

Life Insurance premium on own life 20,000
(sum assured Z 2,00,000)

Winnings from crossword puzzles 80,000

Compute net tax payable by Mr. X for the assessmént year
2017-18.

5.1.19856 9wps Sp. X eremLicuil aeusHméELD elleurhisarmeue :

T
&LDLIGT GU(HLOTEITLD 1,00,000
S H& QengHemibs aum_ens (2 am(HEE) 58,000
b&rTC 8l aufl QeasHluig (< amDéEs) 6,000
ufle & g6 Qauepg (Qorgsib) : 50,000
auiEd) eneul e 1B5g aullg 6,000
ATEL AenentiLbiseT g eul_ig . _ . 2,000 .
L Ol ugHrmiser 8gmar eul iy 14,000
Qung Gape HHulld CrgsHus | 80,000

Qembg e sTUSLG weaanob (&S (s Asrers 20,000
% 2,00,000)
GREQEWSgIL GuIiguid Qeuempg ' 80,000

2017-181b auflwreimged & X eremueuii Qrgiss Gouamaw Har eufl
GTEUGLETE CTRTINSE HemT&EEIL 6 Lb.
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17.

18.

Depreciation on let out building 4,000
Insurance on building 1,600
Office expenses relating to building 1,600
Repairs, rates ete 1,600

Sleseu(mib edleuisamens Qamein( 887 Qe euboNaISmss: e sd [He:

T
ABC flmiw ukistgmuib . 26,000
PQR fimiwo lllréja;rrg,rru_ub (s : 14,000
. Copafluaipeny eugess e ewayger 1%
SLLLID whyih SiSgILan Qavambs QU erbSyid
eumL_ang oL Fléb fen_gg cugniomenid ' 30,000
FLLL gl g men Cgiioreanid 4,000
&L gélen Bgren smlSH ‘ 1,600
SLLL D sTiHg SIQawss Qsweyser : 1,600
LWgIUTTUY QFeayser . 1,600

Following are the incomes of Mr. X for the previous year
2016-17.

Dividends % 20,000; Loss from house property ¥ 32,000; Interest
from Bank deposits ¥ 10,000; Business income ¥ 50,000;
Speculation loss ¥ 3,000 short term capital loss ¥ 10,000; Long
term capital gain ¥ 15,000. Compute the Gross total Income
after'setting off losses against other incomes.

2016-17p  gamgpEiu  Hm. X GI‘GOTLJQJIﬂGUT QU(THLO GBS ET
STUUL_(HeTerer:

uhstgmub T 20,000; &SL@ Qengs Bl T 32,000; eumid
@aulnIflmHs Qui ey T 10,000; efwimiimy aumwrand T 50,000;
oars curemfls pUL b f 3.000; Gnélu ste apwger pLLb T 10, 000;
Bam_sre  apagar smud T 15,000, plksmer bHp
auLoTahisete) #llsi g w Genent Qurgs QU(HLOTGTLD SemT&E (D S.

Compute deduction U/S. 80C.

. Own contribution to RPF % 15,000; Contribution to NSC-VII

Issue ¥ 11,000; Insurancé premium on own life % 25,000 (sum
assured ¥ 1,00,000); Insurance premium on the life of wife
¥ 2,500 (sum assured % 45,000). '
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19.

20.

21.

19fey 80C ullerr Ly s sEaT SaTES (DS

‘okgsNssiu L Goopw HHEE Qeausdug T 15,000 NSC-VII
Qevaflli iy hE Qeausdlu Ggmens T 11,000 Qenbs srinfiger 18g)
Qegigdlu pevamod T 25,000 (smuSL@S @smes T 1,00,000);
oaeiier sMISH paanoid GQegugdug T 2,500 (smiSi(s
Qgreng T 45,000)

Total income of Mr. X a senior citizen is ¥ 5,16,000. Compute the
tax liability: .

8. X arenp wpss Gl wsaflear Qurss eumorand T 5,16,000. veurs
augsLorar.aifl Qurmliens samsSH\s. ‘

PART C — (3 X 10 = 30 marks)
Answer any THREE questions each in 500 words.

Explain any ten deductions allowable from Gross Total Income.
U/S. 80.

Aifley 80em &1p Qorgs aumLTaESS MBS ieinHEs LB Sl ser -

FCaa@ib usSHanan eflaTsEs.

Mr. X owns a residential house at Bangalore. From the
following, compute the amount of capital gains for the
assessment year 2017-18. -

T
Cost of construction (during 1988-89) 4,00,090
- Cost of additions (during 1997-98) 2,00,000
Sale cansideration (sale on 10.10.16) 95,00,000
Expenses on transfer 20,000
Cost of new house purchased at Hyderabad 5',,00,0001

on 15.1.2016 .

Amount deposited in capital gain deposit 4,00,000

scheme on 25.7.2017
(CII for 1988-89 = 161; For 1997-98 = 331 and for 2016-17
=1125).
fp. X aam iair Quiris@sfild Qarssints @@ 50 meudgioterTi.
Gereupd  efleugisenend  Qamem@®  2017-18b  euflwreiriged

aufl&@EL LG ppSen BETLSMSE samss[Hs.
' 4 60515/BYA6C

22.

23.

T

&S g6 & @G omané Qemayser (1988-89) 4,00,000
5 (H5D s Huragdar oi_sb (1997-980)  2,00,000
aflpuenar wmiwerr (10.10.166) 95,00,000
ellpuenens Qgaaeysar 20,000
15.1.2016 & evamgrrung e euridu Lg 5,00,000
oL 1g 61 LG8 elanay - .

25.7.2017 & epegen smu eauiiy St sHe  4,00,000
QUL Ogrens ‘

(SLéseilwa @O GLam : 1988-89¢ 161: 1997-98 331;
2016-17q 1125) ‘ .

Mr.” X, a charted Accountant, Supplies the below given
particulars for the year 2016-17.

Professional gain ¥ 52,400; Rent received from house at Delhi
¥ 18,000 p.a.; Municipal taxes ¥ 1,500 p.a.; Long term capital -
gains ¥ 10,000; Part time salary as lecturer T 25,000: Rent paid
by him at Kanpur ¥ 2,000 p.m.; Interest on Govt. Securities
¥ 19,000 and Deposit made in PPF account ¥ 15,000. Compute
his taxable income for the assessment year 2017-18.

8. X erém Ll Lw sewssmur 2016-171b @yaimg Harer efeuykisman
Seflggerarmr, : :

Azmfler gysmub T 52,400; ALeveludgyerer seans &g f(BHE QubHm
am_ems T 18,000 (an®ée): parm § eufl T 1,500 (<am(é);
bamLasme apagear <pgmwb . 10,000; UGS Crr <AfNwr ueflule

- @Qupp sbuemd T 25,000; ‘sremyfd e QesHw  eum_ans

¥ 2,000(worsib); iysL Senamyriser Wamar ey T 19,000 whmib
@Qurg Gsw po AH¥d @@L Osrens T 15,000, 2017-18:p
aufflwraimy 6 <iaurg euféer L QU(BLDTETS NS TSIy Lb.

Compute income from other sources for the assessment year
2017-18.

Interest. on Investments with a company (Gross) % 20,000; -
University examinership remuneration % 16,000; Royalty for
writing books ¥ 1,60,000; Expenses on writing books T 40,000;
Dividend from Indian company ¥ 12,000; Interim dividend
¥ 12,000 and Family Pension % 48,000. .

2017-18Lb'mrﬂu__mco%nq.]j)é;rrm BTT Qe UHLONEID %ewrdd (5.

Bow apseSGaer Sprar iy (Qurgsn)T  20,000; 1 dwamead AT

- Gareumaryis Qupp earwib T 16.000; uggsid epSHuessten
smiyflew Qgrens T 1,60,000; LUsgsD er(ps Qalg Qeoeyser

¥ 40,000; @pdw i Lkistgmub T 12,000; QL ssme LRISTSTLLD
¥ 12,000 wpmib GGHbL @ugpduith T 48,000 S GLWD.
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